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MAJOR TEST

BEWARE OF NEGATIVE MARKING

HAVE CONTROL  HAVE PATIENCE  HAVE CONFIDENCE  100% SUCCESS

1. Mark out the incorrect option :-

(1) Diamagnetism occurs in all materials

(2) Diamagnetism results from the partial

alignment of permanent magnetic moment

(3) Most of the materials are diamagnetic

(4) If an external magnetic field imposed in the

direction of orbital magnetic moment of

electron then orbital magnetic moment of

electron will be decreased

2. Gravitational potential on the surface of earth

is V. Gravitational potential at the centre of

earth is :

(1) V (2) 
3

2
V (3) 

2

3
V (4) Zero

3. Electromagnets are made of soft iron because
soft iron has :-
(1) Low permeability, high retentivity and high

coercivity
(2) Low permeability, high retentivity and low

coercivity
(3) High permeability, low retentivity and high

coercivity
(4) High permeability, low retentivity and low

coercivity

4. Gravitational potential difference between a
point on surface of planet and another point
10m above is 4 J/kg. Considering gravitational
field to be uniform. How much work is done
in moving a mass of 2 kg from the surface to
a point 5m above the surface :

(1) 2 J (2) 4 J (3 50 J (4) 100 J

5. Equipotential surfaces due to point charge is

according to figure. then :-

•

a
b

200V

300V

400V

(1) charge is positive and a > b

(2) charge is positive and a < b

(3) charge is negative and a > b

(4) charge is negative and a < b

1.  :-
(1) 
(2)       


(3) 
(4) 




2.     V   

    

(1) V (2) 
3

2
V (3) 

2

3
V (4) 

3. 



(1) 

(2) 

(3) 

(4) 

4. 10m 
    4 J/kg  
     2 kg

5m 
 
(1) 2 J (2) 4 J (3 50 J (4) 100 J

5. 
 :-

•

a
b

200V

300V

400V

(1) a > b

(2) a < b

(3) a > b

(4) a < b

      
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6. Three heavy bodies each  m

m ma

aa m

P

of mass m are placed at

the corners of a regular

triangle side a (a is much

larger than dimensions

of bodies), then escape velocity of a body of

mass m, situated at the centre p of triangle is:-

(1) 
3 5Gm

a
(2) 

6 3Gm

a

(3) 
7 3Gm

a
(4) 

3

2

Gm

a
7. Charges are placed on the vertices of a square

as shown. Let E be the electric field and V the

potential at the centre. If the charges on A and

B are interchanged with those on D and C

respectively, then :-

A B

CD–q –q

qq

(1) E


 remains unchanged, V changes

(2) Both E


 and V change

(3) E


 and V remains unchanged

(4) E


 changes, V remains unchanged

8. A mass 6 × 1024 kg (= mass of earth) is to be

compressed in a sphere in such a way that the

escape velocity from its surface is 3 × 108 m/s

(equal to that of light). What should be the

radius of the sphere ?

(1) 6400 km (2) 9 m

(3) 9 mm (4) 9 cm

9. The adjacent diagram shows a charge +Q on
point S and enclosed by a hollow spherical
conductor. O represents the centre of the
spherical conductor and P is a point such that
OP = a and SP = r. The electric field at point P
will be :-

(1) 2
0

Q

4 a
       

•O

S
• P

r

a

Q

(2) 2
0

Q

4 r 
(3) 0

(4) None of the above

6.      m

m ma

aa m

P

 m  a  

 (
    a 
  ),  O  
m  :-

(1) 
3 5Gm

a
(2) 

6 3Gm

a

(3) 
7 3Gm

a
(4) 

3

2

Gm

a
7. 

E V
A B D C 
 :-

A B

CD–q –q

qq

(1) E


 V 

(2) E


 V 

(3) E


 V 

(4) E


 V 

8.  6 × 1024 kg ()

 

3 × 108 m/s (

  )     

(1) 6400 km (2) 9 m

(3) 9 mm (4) 9 cm

9.   +Q   S   
      
O   P  
OP = a  SP = r,   P   
:-

(1) 2
0

Q

4 a
       

•O

S
• P

r

a

Q

(2) 2
0

Q

4 r 
(3) 0

(4) 
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10. A satellite with kinetic energy Ek is revolving

round the earth in a circular orbit. How much

more kinetic energy should be given to it so

that it may just escape into outer space :-

(1) 
Ek

2
(2) EK

(3) EK 2 (4) 2EK

11. A solid conducting sphere of radus R having a
charge Q is surrounded by an uncharged
concentric conducting hollow spherical shell,
of radius 2R let the potential difference
between the surface of the solid sphere and
that of the outer surface of the hollow shell be
V. If the shell is now given a charge of –3Q,
the new potential difference between the two
surfaces is :-

(1) V (2) 2V (3) 4V (4) –2V

12. The intensity of the earth’s gravitational field

is maximum at :–

(1) The centre of the earth

(2) The equator

(3) The poles

(4) The tropic of capricorn

13. Electric field of magnitude 8 N/C is acting along
+y-axis. Electric potential at point A(2, –7)m
is 22 volt then electric potential at point
B(8, 3) will be :-

(1) 118 volt (2) –118 volt

(3) 58 volt (4) –58 volt

14. For a planet having mass equal to mass of the earth

but radius is one fourth of radius of the earth, Then

escape velocity for this planet will be:-

(1) 11.2 km/s (2) 22.4 km/s

(3) 22.4 m/s (4) 44.8 km/s

15. A hollow spherical conductor has a point

charge  '+q' kept inside its cavity as shown in
figure. Let V

A
, V

B
, V

C
 & V

D  
be the potential at

point A, B, C & D respectively. Then:-

(1) V
A
 > V

B
 > V

C
 > V

D

(2) V
A
 = V

B
 > V

C
 > V

D

•A• • • •B
C

Dq(3) V
A
 > V

B
 > V

C
 = V

D

(4) V
A
 = V

B
 = V

C
 = V

D

10. 

 Ek 

 :-

(1) 
Ek

2
(2) EK

(3) EK 2 (4) 2EK

11. R Q 

2R



V 

–3Q 

:-

(1) V (2) 2V (3) 4V (4) –2V

12.   

(1)  

(2)  

(3)  

(4) 

13. 8 N/C +y-
   A(2, –7)m   
22          B(8, 3)   
:-
(1) 118  (2) –118 
(3) 58  (4) –58 

14. 
        


(1) 11.2 km/s (2) 22.4 km/s

(3) 22.4 m/s (4) 44.8 km/s

15.   '+q' 
 V

A
, V

B
, V

C 


V
D 
A, B, C D   :-

(1) V
A
 > V

B
 > V

C
 > V

D

(2) V
A
 = V

B
 > V

C
 > V

D •A• • • •B
C

Dq
(3) V

A
 > V

B
 > V

C
 = V

D

(4) V
A
 = V

B
 = V

C
 = V

D
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16. Net resistance of the given circuit between

X and Y is :-

(1) 
5
3
 (2) 1 (3) 3 (4) 2

17. A metallic shell has a point charge 'q' kept
inside its cavity. Which one of the following

diagrams correctly represents the electric field
lines:-

(1) • (2) •

(3) • (4) •

18. The resistance of conductor at 20° C is 3.15
and at 100° C in 3.75. Then resistance of

conductor at 0°C will be :-
(1) 3.0  (2) 3.5 

(3) 3.95  (4) 0 
19. A uncharged conductor B is brought near to a

positively charged conductor A, then the
respective changes in charge, electric potential

and capacitance of A will be :-
(1) Remain unchanged, decreased, incresed

(2) Remain unchanged, unchanged, unchanged
(3) Remain unchanged, increased, decreased

(4) Increased, increased, decreased

20. In the circuit shown below, the current that

flows from a to b then the switch S is closed:

+
–

20

10a

5

b

10V

(1) –1.5A (2) +1.5A (3) +1.0A (4) –1.0A

16.  X  Y   :-

(1) 
5
3
 (2) 1 (3) 3 (4) 2

17.   'q' 

 :-

(1) • (2) •

(3) • (4) •

18.   20° C  3.15  
100° C  3.75 0°C  :-

(1) 3.0  (2) 3.5 

(3) 3.95  (4) 0 

19. A 
B A 
:-
(1) 
(2) 
(3) 
(4) 

20. S a 
b   

+
–

20

10a

5

b

10V

(1) –1.5A (2) +1.5A (3) +1.0A (4) –1.0A
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21. The potential on the surface of a conducting

sphere of radius 9 cm is 100 V . If it is covered

by a grounded conducting spherical shell of

radius 10 cm, then new potential on its surface

will be :-

(1) 1 V (2) 10 V

(3) 90 V (4) 100 V

22. Which of the four resistances generates the

greatest amount of heat when a current flows

from A to B

(1) Resistor P will produce maximum heat.

(2) Resistor Q will produce maximum heat.

(3) Resistor R will produce maximum heat.

(4) Resistor S will produce maximum heat.

23. Four charges q
1
, q

2
, q

3
  and               

q4 q2

q1

q3

S

q
4
 are fixed at their positions

as shown in Fig. S is a

Gaussian surface. The

Gauss's law is given by

0S

q
. 

 E ds
 


Which of the following statements is correct?

(1) E


 on the LHS of the above equation will

have a contribution from q
3
 and q

4
 while q

on the RHS will have a contribution from

q
1
 and q

2
 only.

(2) E


 on the LHS of the above equation will

have a contribution from all charges while

q on the RHS will have a contribution from

q
3
 and q

4
 only.

(3) E


 on the LHS of the above equation will

have a contribution from all charges while

q on the RHS will have a contribution from

q
1
 and q

2
 only.

(4) Both E


 on the LHS and q on the RHS will

have contributions from q
1
 and q

2
 only.

21. 9         

100 volt    10   

 

 :-

(1) 1 V (2) 10 V

(3) 90 V (4) 100 V

22. A B 

    :–

(1) P  
(2) Q   
(3) R   
(4) S  

23. q
1
, q

2
, q

3
  q

4   
            

q4 q2

q1

q3

S



S 



0S

q
. 

 E ds
 




(1) E


 q
3
  q

4
 

q q
1
  q

2



(2) E


 

q q
3
 q

4



(3) E


 

q q
1 
 q

2



(4) E


 q 

q
1
  q

2
 
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24. A letter A is constructed of a uniform wire with

resistance 1.0  per cm. The sides of the letter

are 20 cm and the cross piece in the middle is

10 cm long. The apex angle is 60°. The

resistance between the ends of the legs is :-

(1) 50.0  (2) 26.7 

(3) 2.72  (4) 34.0 

25. The figure shows three long straight wire P, Q

and R carrying currents normal to the plane of

the paper. All three currents have the same

magnitude. Which arrow best shows the

direction of the resultant force on the wire P :-

Q
P

A

B

C
D

R

(1) A (2) B

(3) C (4) D

26. The ammeter reading in the following circuit
will be

(1) 
1
8

 A (2) 
3
4

 A

(3) 
1
2

 A (4) 2 A

27. In a mass spectrometer used to measuring the

masses of ions the ions are initially accelerated

by an electric potential V and then made to

describe semicircular paths of radius R using

a magnetic field B. If V and B are kept constant,

the ratio 
charge on the ion

mass of the ion

 
 
 

 will be

proportional :-

(1) 1/R (2) 1/R2

(3) R2 (4) R

24. 1.0   
A 20 cm 
10 cm 60° 


(1) 50.0  (2) 26.7 

(3) 2.72  (4) 34.0 

25. P,

Q  R 

 P 
 :-

Q
P

A

B

C
D

R

(1) A (2) B

(3) C (4) D

26. :-

(1) 
1
8

 A (2) 
3
4

 A

(3) 
1
2

 A (4) 2 A

27.       

 V  

B R 

V B 


 
  

 
  

:-
(1) 1/R (2) 1/R2

(3) R2 (4) R

  Key Filling      
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28. In a portion of some large electrical network,

curents in certain branches are known as

shown in figure :-

A
2

5V 4 4V

6

3V7A

B C

9V 3A

8 10

D
2A

The value of VA – VC is

(1) 76 V (2) – 76 V

(3) –58 V (4) –52 V

29. A particle having a charge of 10.0µC and mass

1 µg moves in a circle of radius 10 cm under

the influence of a magnetic field of induction

0.1T. When the particle is at a point P, a

uniform electric field is switched on so that the

particle starts moving along the tangent with a

uniform velocity. The electric field is :-

P

(1) 0.1 V/m (2) 1.0 V/m

(3) 10.0 V/m (4) 100 V/m

30. Copper and silicon is cooled from 300 K to

60K, the specific resistance :-

(1) Decrease in copper but increase in silicon

(2) Increase in copper but decrease in silicon

(3) Increase in both

(4) Decrease in both

31. Two parallel long wires carry currents i
1
 and i

2

with i
1
 > i

2
. When the currents are in the same

direction, the magnetic field midway between

the wires is 10µT. When the direction of i
2
 is

reversed, it becomes 40µT. The ratio i
1
/i

2
 is :-

(1) 3 : 4 (2) 11 : 7

(3) 7 : 11 (4) 5 : 3

28. 



A
2

5V 4 4V

6

3V7A

B C

9V 3A

8 10

D
2A

VA – VC 

(1) 76 V (2) – 76 V

(3) –58 V (4) –52 V

29. 10.0µC   1 µg   
0.110 cm 

      P  

 

 

 :-

P

(1) 0.1 V/m (2) 1.0 V/m

(3) 10.0 V/m (4) 100 V/m

30. Si 300 K  60K 
:-

(1) Si

(2) Si 

(3) 

(4) 

31. i
1
 i

2

(i
1
 > i

2
)

10µT
i
2
 40µT

i
1
/i

2
 :-

(1) 3 : 4 (2) 11 : 7

(3) 7 : 11 (4) 5 : 3
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32. 52 cm 

5 ohm

40 cm. 

:-

(1) 1.5 ohm (2) 2.0 ohm

(3) 1.8 ohm (4) 3.0 ohm

33.    

     'a' 

          

I
B

B      

    

     

   I    

     

    :-

(1) IaB (2) 2 IaB

(3) 
IaB

2
(4) 

3

2
IaB

34. R1  R2

R1

0.5A

R2
10

20

1A

69V

(1) 14   40 

(2) 40   14 

(3) 40   30 

(4) 14  30 

35.  'R'  'i'

R/4 

10 

4R  :-

(1) 4/3 T (2) 8/3 T

(3) 40/3T (4) 80/3 T

32. The emf of a cell is balanced at 52 cm length

of the potentiometer wire. If 5 ohm resistance
is inserted from the resistance box connected
with the cell, then balancing length obtained is
40 cm. The internal resistance of the cell will
be :-

(1) 1.5 ohm (2) 2.0 ohm

(3) 1.8 ohm (4) 3.0 ohm

33. A square loop of side 'a'          

I
B

hangs from an insulating

hanger of spring balance.

The magnetic field of

strength B occurs only at the

lower edge It carries a

current I. Find the change in

the reading of the spring

balance if the direction of

current is reversed :-

(1) IaB (2) 2 IaB

(3) 
IaB

2
(4) 

3

2
IaB

34. In the circuit shown in the given figure the
resistance R1 and R2 are respectively

R1

0.5A

R2
10

20

1A

69V

(1) 14  and 40 

(2) 40  and 14 

(3) 40  and 30 

(4) 14  and 30 

35. A cylindrical conductor of radius 'R' carries a

current 'i'. The value of magnetic field at a point

which is R/4 distance inside from the surface

is 10T. Find the value of magnetic field at point

which is 4R distance outside from the surface:-

(1) 4/3 T (2) 8/3 T

(3) 40/3T (4) 80/3 T

Use stop, look and go method in reading the question
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36. Regarding earth's magnetism consider the

following statements.

(A) the angle of dip in india is greater than

dip angle in Britain.

(B) The vertical component of earth magnetic

field is vertically upwards in Australia.

(1) Both A and B are true

(2) A is true but B is false

(3) A is false but B is true

(4) Both A and B are false

37. The length of a bar magnet is large compared

to its width and breadth. The time period of its

oscillation in a vibration magnetometer is 2 s.

The magnet is cut along its length into three

equal parts and three parts are then placed on

each other with their like poles together. The

time period of this combination will be :-

(1) 2 s (2) 2/3 s

(3) 2 3 s (4) 2 / 3 s

38. Three point charges, each of value q are placed

on three vertices of an equilateral triangle of

side 'a' m. Calculate the work required to move

these charges to the corners of a smaller

equilateral triangle of side a/2 m.

(1) 

2

0

q

4 a
(2) 

2

0

q

2 a

(3) 

2

0

3q

4 a
(4) 

2

0

3kq

2 a

39. Two bar magnets with magnetic moments

3 M and M are fastened together at right

angles to each other at their centres to form a

crossed system, which can rotate freely about

a vertical axis through the centre. The crossed

system sets in earth's magnetic field with

magnet having magnetic moment 3 M

making an angle  with the magnetic meridian

such that :

(1)  = tan–1
1

3

 
  

(2)  = tan–1  3

(3)  = tan–1
1

2

 
  

(4)  = tan–1 (2)

36.   

(A) 
 

(B)   


(1) A  B   
(2) A  B  
(3) A B  
(4) A  B   

37. 



2 s


:-
(1) 2 s (2) 2/3 s

(3) 2 3 s (4) 2 / 3 s

38.        q  'a' .
               
     a/2     
          
 :-

(1) 

2

0

q

4 a
(2) 

2

0

q

2 a

(3) 

2

0

3q

4 a
(4) 

2

0

3kq

2 a

39. 3 M  M       

       
         
         
         

         3 M

       
    :

(1)  = tan–1
1

3

 
  

(2)  = tan–1  3

(3)  = tan–1
1

2

 
  

(4)  = tan–1 (2)
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40. Three identical bar magnets each of magnetic

moment M are placed in the form of an

equilateral triangle as shown. The net magnetic

moment of the system is :-

S S

S N

NN

(1) Zero (2) 2M (3) M 3 (4) 
3M

2
41. Two circular loop 1 and 2 are made by the same

copper wire but the radius of the 1st loop is twice

that of the 2nd loop, what is ratio of potential

difference applied across the loops. If the

magnetic field produced at their centres is equal

(1) 3 (2) 4 (3) 6 (4) 2

42. A magnet is parallel to a uniform magnetic

field. If it is rotated by 60°, the work done

is 0.8 J. How much work done in moving it

30° further :-

(1) 0.4 J (2) 0.4 3 J

(3) 0.8J (4) 1.6 J

43. A beam of electrons passes undeflected

through mutually perpendicular electric and

magnetic fields. If the electric field is switched

off, and the same magnetic field is maintained,

the electrons move :-
(1) along a straight line
(2) in an elliptical orbit
(3) in a circular orbit
(4) along a parabolic path

44. The area of hysteresis loop of a material is

equivalent to 250 joule/m3. When 10 kg

material is magnetised by an alternating field

of 50 Hz then energy lost in one hour will

be (density of material is 7.5g/cm3) :-

(1) 6 × 104 J (2) 6 × 104 erg

(3) 3 × 102 J (4) 3 × 102 erg

45. A compass needle whose magnetic moment

is 60 A-m2 pointing geographical north at a

certain place, where the horizontal component

of earth's magnetic field is 40 µWb/m2,

experiences a torque 1.2 × 10–3 N-m. What

is the declination at this palce :-

(1) 30° (2) 45° (3) 60° (4) 25°

40.  M     
             
           
  :-

S S

S N

NN

(1)  (2) 2M (3) M 3 (4) 
3M

2
41. 1  2 





(1) 3 (2) 4 (3) 6 (4) 2

42.        

     60°       0.8 J  

  30°      :-

(1) 0.4 J (2) 0.4 3 J

(3) 0.8J (4) 1.6 J

43. 



(1) 
(2) 
(3) 
(4) 

44.        250 

    10 kg      50 Hz 
        1  
            
7.5g/cm3  :-
(1) 6 × 104 J (2) 6 × 104 erg

(3) 3 × 102 J (4) 3 × 102 erg

45.  60 A-m2 



 

40 µWb/m2

1.2 × 10–3 N-m

:-
(1) 30° (2) 45° (3) 60° (4) 25°
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46. Reactivity order towards EAR is :-

CH3–CH=CH2
CH –C=CH3 2

CH3

Ph–CH=CH2

(I)       (II) (III)

(1) II > I > III (2) III > II > I

(3) III > I > II (4) I > II > III

47. C C H –  
2

2

Hg / H

H O

 

  A HCN  B ?

(1) 
CH CH CN2– –

OH
(2) C CH– 3

OH

CN

(3) 
CH CH CN2 2– –

(4) 
CH CH– 3

CN

48. CH CH C O CH3 2 3– – – –

O

 + 2CH
3
MgBr  A

H


  B ?

(1) CH C CH CH3 3– = –

CH3

(2) CH CH CH CH3 2– – =

CH3

(3) CH C CH CH3 2 3– – –

CH3

OH

(4) CH C CH OH3 2– – –

CH3

CH3

49. Ph C H– –

O

 
HCN  A 4LiAlH  B

What is B ?

(1) Ph CH OH– –

COOH
(2) Ph CH OH– –

CH NH2 2–

(3) Ph CH OH– –

CHO

(4) Ph–CH2–CH2–NH2

46.   
:-

CH3
–CH=CH

2
CH –C=CH3 2

CH3

Ph–CH=CH
2

(I)       (II) (III)

(1) II > I > III (2) III > II > I

(3) III > I > II (4) I > II > III

47. C C H –  
2

2

Hg / H

H O

 

  A HCN  B ?

(1) 
CH CH CN2– –

OH
(2) C CH– 3

OH

CN

(3) 
CH CH CN2 2– –

(4) 
CH CH– 3

CN

48. CH CH C O CH3 2 3– – – –

O

 + 2CH3MgBr  A

H


  B ?

(1) CH C CH CH3 3– = –

CH3

(2) CH CH CH CH3 2– – =

CH3

(3) CH C CH CH3 2 3– – –

CH3

OH

(4) CH C CH OH3 2– – –

CH3

CH3

49. Ph C H– –

O

 
HCN  A 4LiAlH  B

B 

(1) Ph CH OH– –

COOH

(2) Ph CH OH– –

CH NH2 2–

(3) Ph CH OH– –

CHO

(4) Ph–CH
2
–CH

2
–NH

2

Take it Easy and Make it Easy
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50. Correct order of free radical allylic substitution

of following is :-

CH3–CH=CH2

CH CH CH CH3 2– – =

CH3

 (I)           (II)

Ph–CH2–CH=CH2

(III)

(1) I > II > III (2) III > I > II

(3) III > II > I (4) I > III > II

51. Among the following compounds the one that is

most reactive towards electrophilic nitration is:

(1) Toluene (2) Benzene

(3) Benzoic Acid (4) Nitrobenzene

52. Identify A is in given reaction :-

    A 3 2O / H O CH C OH  CH C COOH  (CH ) C O3 3 3 2– – + – – + =

O O

(1) CH CH C CH C3– = – =

CH3

CH3

CH3

(2) CH CH C CH3 3– = –

CH C(CH )= 3 2

(3) Both of above

(4) (CH3)2C=CH–CH=CH–CH3

53. Which of following gives aldol reaction :-

(1) CCl3–CHO (2) H2C=O

(3) (CH
3
)
3
–CHO (4) CD

3
–CH=O

54. In which reaction major product is Hoffman's

product :-

(1) CH3–CH2–CHCl–CH3 
3CH O




Θ

(2) CH
3
–CH

2
CHCl–CH

3
 3 3(CH ) C O , 

Θ

(3) CH N CH3 3– –

CH CH CH CH3 2 3– – –

CH3


 

(4) 2 & 3 both correct

55. Which of following statement is incorrect ?

(1) HCHO & CH3CHO can be distinguish by

iodoform test

(2) HCOOH & CH3COOH can be distinguish by

Tollen's reagent

(3) HCHO & HCOOH can be distinguish by

Tollen's reagent

(4) HCHO & CH3COCH3 can be distinguish by

Fehling's solution

50.    
 :-

CH3–CH=CH2

CH CH CH CH3 2– – =

CH3

 (I)           (II)

Ph–CH2–CH=CH2

(III)

(1) I > II > III (2) III > I > II

(3) III > II > I (4) I > III > II

51. 
 
(1)  (2) 
(3)  (4) 

52. A  :-

    A 3 2O / H O CH C OH  CH C COOH  (CH ) C O3 3 3 2– – + – – + =

O O

(1) CH CH C CH C3– = – =

CH3

CH3

CH3

(2) CH CH C CH3 3– = –

CH C(CH )= 3 2

(3) 
(4) (CH

3
)
2
C=CH–CH=CH–CH

3

53.  :-
(1) CCl

3
–CHO (2) H

2
C=O

(3) (CH3)3–CHO (4) CD3–CH=O

54. 


(1) CH
3
–CH

2
–CHCl–CH

3
 3CH O




Θ

(2) CH
3
–CH

2
CHCl–CH

3
 3 3(CH ) C O , 

Θ

(3) CH N CH3 3– –

CH CH CH CH3 2 3– – –

CH3


 

(4) 2  3 
55. 

(1) HCHO CH3CHO 
 

(2) HCOOH CH3COOH 
 

(3) HCHO HCOOH 


(4) HCHO CH
3
COCH

3
 

 
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56. Which of following gives iodoform test on

heating ?

(1) CH C OCH3 3– –

O

(2) CH C OC H3 2 5– –

O

(3) Ph C O CH– – – 3

O

(4) CH C O3– – Ph

O

57.  + CH2=CH2 
3AlCl

A 2Cl

h
  B 2KNO  :-

(1) CH CH –NO2 2 2–

(2) 
CH CH– 3

NO2

(3) CH CH O N O2 2– – – =

(4) CH CH– 3

ON=O

58. CH3–CH2–CH2–Cl + KCN 

      A
2

H

H O



B 2SOCl C 2

4

H / pd

BaSO
D ?

(1) CH3
–CH

2
–CH

2
–CHO

(2) CH CH CH3 3– –

CHO

(3) CH3–CH2–CH2–CH2–OH

(4) CH CH CH CH3 2 3– – –

OH

59.

NH2

 3

2

3

(i) CH COCl

(ii) Br / Fe
(iii) H O

  ?

(1) 

NH2

Br Br

Br

(2) 

NHCOCH3

Br

(3) 

NH2

Br

(4) 

OH

Br

56.       


(1) CH C OCH3 3– –

O

(2) CH C OC H3 2 5– –

O

(3) Ph C O CH– – – 3

O

(4) CH C O3– – Ph

O

57.  + CH2=CH2 
3AlCl

A 2Cl

h
  B 2KNO  :-

(1) CH CH –NO2 2 2–

(2) 
CH CH– 3

NO2

(3) CH CH O N O2 2– – – =

(4) CH CH– 3

ON=O

58. CH3–CH2–CH2–Cl + KCN 

      A
2

H

H O



B 2SOCl C 2

4

H / pd

BaSO
D ?

(1) CH3
–CH

2
–CH

2
–CHO

(2) CH CH CH3 3– –

CHO

(3) CH3–CH2–CH2–CH2–OH

(4) CH CH CH CH3 2 3– – –

OH

59.

NH2

 3

2

3

(i) CH COCl

(ii) Br / Fe
(iii) H O

  ?

(1) 

NH2

Br Br

Br

(2) 

NHCOCH3

Br

(3) 

NH2

Br

(4) 

OH

Br
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60. CH C NH CH CH3 2 3– – – –

O

 
2

KOH

H O
 A 3CHCl

Alc. KOH
B ?

(1) CH3–CH2–NC

(2) CH3–CH2–COOH

(3) CH3
–CH

2
–NH–CH

3

(4) CH3–NC

61. CH –CH–O–CH –CH3 2 3

CH3

HIA + B ?

A
PCCC 'C' does not reduce Tollen reagent

B 2H O
D 'D' reduces Tollen reagent

A, B, C and D are respectively :-

(1) CH CH OH3– –

CH3

, CH
3
–CH

2
–I,

CH C CH3 3– –

O

, CH
3
–CH

2
–OH

(2) CH CH I3– –

CH3

, CH3–CH2–OH,

CH CH CH3 3– –

OH

, CH3–CHO

(3) CH CH OH3– –

CH3

, CH
3
–CH

2
–I,

CH C CH3 3– –

O

, CH3–CHO

(4) CH3–CH2–I, CH CH CH3 3– –

OH

,

CH C CH3 3– –

O

, CH3–CH2–OH

62. CH3
–CH=CH

2
2

2

Br

H O
A 2 3aq. Na COB ?

(1) CH CH CH3 2– –

OH OH

(2) CH C CH3 3– –

O

(3) CH CH CH3 2– –

BrOH

(4) CH CH CH3 2– –

Br OH

60. CH C NH CH CH3 2 3– – – –

O

 
2

KOH

H O
 A 3CHCl

Alc. KOH
B ?

(1) CH3–CH2–NC

(2) CH3–CH2–COOH

(3) CH3
–CH

2
–NH–CH

3

(4) CH3–NC

61. CH –CH–O–CH –CH3 2 3

CH3

HIA + B ?

A
PCC C 'C' 



B 2H O
D 'D' 

A, B, C D :-

(1) CH CH OH3– –

CH3

, CH3–CH2–I,

CH C CH3 3– –

O

, CH3–CH2–OH

(2) CH CH I3– –

CH3

, CH3–CH2–OH,

CH CH CH3 3– –

OH

, CH
3
–CHO

(3) CH CH OH3– –

CH3

, CH3–CH2–I,

CH C CH3 3– –

O

, CH
3
–CHO

(4) CH3–CH2–I, CH CH CH3 3– –

OH

,

CH C CH3 3– –

O

, CH3–CH2–OH

62. CH3
–CH=CH

2
2

2

Br

H O
A 2 3aq. Na COB ?

(1) CH CH CH3 2– –

OH OH

(2) CH C CH3 3– –

O

(3) CH CH CH3 2– –

BrOH

(4) CH CH CH3 2– –

Br OH
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63.

O

2H / Ni


A

Zn Hg

conc. HCl

B 2Cl

h
C ?

(1) Cl—( CH2)5–Cl (2) CH3—( CH2)4–Cl

(3) 

OH

(4) 

Cl

64. In the following reaction

C6H5CH2Br 
3

1.Mg, Ether
2.H OX,

The product 'X' is :-

(1) C6H5CH2OH         (2) C6H5CH3

(3) C6H5CH2CH2C6H5   (4) C6H5CH2OCH2C6H5

65.
CHO

CHO
 (i) OH

(ii) H
Θ

 Major ?

(1) 
CH OH2

COO
(2) 

CH OH2

COOH

(3) 

O

(4) CH OH2–

CH OH2–

66. 4H /KMnO

  A O H




Θ

 B ?

(1) 

O

CH3 (2) 

O

CH3

(3) 
CH3

O

(4) 

CH3

C CH– 3

O

67. Which of the following reactions will not result

in the formation of carbon-carbon bonds ?

(1) Friedel-Crafts acylation

(2) Reimer-Tieman reaction

(3) Cannizaro reaction

(4) Wurtz reaction

63.

O

2H / Ni


A

Zn Hg

conc. HCl

B 2Cl

h
C ?

(1) Cl—( CH
2)5–Cl (2) CH3—( CH2)4–Cl

(3) 

OH

(4) 

Cl

64. 

C6H5CH2Br 
3

1.Mg, Ether
2.H OX,

 'X'  :-

(1) C6H5CH2OH         (2) C6H5CH3

(3) C6H5CH2CH2C6H5   (4) C6H5CH2OCH2C6H5

65.
CHO

CHO
 (i) OH

(ii) H
Θ

  ?

(1) 
CH OH2

COO
(2) 

CH OH2

COOH

(3) 

O

(4) CH OH2–

CH OH2–

66. 4H /KMnO

  A O H




Θ

 B ?

(1) 

O

CH3 (2) 

O

CH3

(3) 
CH3

O

(4) 

CH3

C CH– 3

O

67. 


(1) 

(2) 

(3) 

(4) 

      
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68.

O C CH= – 3

Zn Hg

HCl




  A 2Cl

h
  B

           Alc.

KOH
  C 

HClD

(1) CH CH Cl2 2– – (2) CH CH– 3

Cl

(3) CH CH Cl= – (4) 
CH CH– 2

Cl Cl

69. CH C CH CH CH2 2 3– – – –

OOH OH

4HIO ?

(1) CH
3
–CHO + CH C CH3 3– –

O

(2) HCHO + HOOC CH CH CH– – –2 3

OH

(3) H–CHO + CH
3
–CHO + CH

3
–CHO

(4) HCOOH + 

O

HOOC CH C CH– – –2 3

70. Ph–Cl + NaOH 
 A 3CH ClB

A and B are :-

(1) PhONa, Ph–O–CH3

(2) Ph–OH, Ph–O–CH
3

(3) Ph–O–Ph

(4) Ph–CH2–Ph

71. CH3–CH2–CN 3

3

(i) CH MgBr

(ii) H O  ?

(1) 

O

CH CH C CH3 2 3– – –

(2) 

O

CH CH C CH CH3 2 2 3– – – –

(3) CH
3
–CH

2
–CH=NH

(4) CH CH C NH3 2– – =

CH3

68.

O C CH= – 3

Zn Hg

HCl




  A 2Cl

h
  B

           Alc.

KOH
  C 

HClD

(1) CH CH Cl2 2– – (2) CH CH– 3

Cl

(3) CH CH Cl= – (4) 
CH CH– 2

Cl Cl

69. CH C CH CH CH2 2 3– – – –

OOH OH

4HIO ?

(1) CH
3
–CHO + CH C CH3 3– –

O

(2) HCHO + HOOC CH CH CH– – –2 3

OH

(3) H–CHO + CH
3
–CHO + CH

3
–CHO

(4) HCOOH + 

O

HOOC CH C CH– – –2 3

70. Ph–Cl + NaOH 
 A 3CH ClB

A B :-

(1) PhONa, Ph–O–CH3

(2) Ph–OH, Ph–O–CH
3

(3) Ph–O–Ph

(4) Ph–CH2–Ph

71. CH3–CH2–CN 3

3

(i) CH MgBr

(ii) H O  ?

(1) 

O

CH CH C CH3 2 3– – –

(2) 

O

CH CH C CH CH3 2 2 3– – – –

(3) CH
3
–CH

2
–CH=NH

(4) CH CH C NH3 2– – =

CH3
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72. Which is maximum reactive towards hydrolysis

(1) 

Cl

OCH3

(2) 

Cl

CH3

(3) 

NO2

Cl

(4) 

NO2

Cl

NO2

73. CH C OH3– –

O

 + NH
3
 A

B 2Br

NaOH
C ?

(1) CH C NH CH3 3– – –

O

(2) CH3–CH2–NH2

(3) CH C NH3 2– –

O

(4) CH
3
–NH

2

74. Which have more than two chiral-C :-

(1) 

CH3

CH3

(2) 
CH3

CH3

(3) 

CH3

H

HCH3

(4) 
CH3

CH3

CH3

75. Correct IUPAC name of :-

CH CH CH C CH3 2 3– – – –

OCH Cl2–

(1) 1-Chloro-2-methyl-4-pentanone

(2) 4-Chloromethyl butane-2-one

(3) 2-Chloromethyl butane-2-one

(4) 5-Chloro-4-methyl pentane-2-one

72. :-

(1) 

Cl

OCH3

(2) 

Cl

CH3

(3) 

NO2

Cl

(4) 

NO2

Cl

NO2

73. CH C OH3– –

O

 + NH
3
 A

B 2Br

NaOH
C ?

(1) CH C NH CH3 3– – –

O

(2) CH3–CH2–NH2

(3) CH C NH3 2– –

O

(4) CH
3
–NH

2

74. -C :-

(1) 

CH3

CH3

(2) 
CH3

CH3

(3) 

CH3

H

HCH3

(4) 
CH3

CH3

CH3

75. IUPAC :-

CH CH CH C CH3 2 3– – – –

OCH Cl2–

(1) 1-Chloro-2-methyl-4-pentanone

(2) 4-Chloromethyl butane-2-one

(3) 2-Chloromethyl butane-2-one

(4) 5-Chloro-4-methyl pentane-2-one
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76. Among the given compounds, the most

susceptible to nucleophilic attack at the

carbonyl group is :-

(1) CH3COCl (2)  CH3COOCH3

(3) CH3CONH2 (4)  CH3COOCOCH3

77.
Cl

 and 

O

Cl
 are :-

(1) Functional isomers

(2) Metamers

(3) Metamer + functional isomers

(4) Not isomers

78. Which have maximum stable enol form :-

(1) 

O

(2) 
O

(3) CH C CH C CH3 2 3– – – –

OO

(4) CH C CH3 3– –

O

79. Which have Meso form :-

(1) 2, 3-dichloropentane

(2) 2-Bromo-3-chlorobutane

(3) 1, 2-dimethyl cyclo hexane

(4) 2, 3-dimethyl butane

80. Which can be dehydrated easily :-

(1) (CH3
)
2
CH–OH (2) 

OH

O

(3) 

OH

O

(4) 
OH

O

CH3

81. Correct order of acidic strength :-

CH3–COOH Ph–OH

   I    II

CH3
–CH

2
–OH H

2
O CHCH

  III   IV    V

(1) I > II > III > IV > V

(2) I > II > IV > III > V

(3) I > II > V > III > IV

(4) II > I > IV > III > V

76. 


(1) CH3COCl (2)  CH3COOCH3

(3) CH3CONH2 (4)  CH3COOCOCH3

77.
Cl

 

O

Cl

  :-

(1) Functional isomers

(2) Metamers

(3) Metamer + functional isomers

(4) Not isomers

78.  :-

(1) 

O

(2) 
O

(3) CH C CH C CH3 2 3– – – –

OO

(4) CH C CH3 3– –

O

79.   :-
(1) 2, 3-dichloropentane

(2) 2-Bromo-3-chlorobutane

(3) 1, 2-dimethyl cyclo hexane

(4) 2, 3-dimethyl butane

80.   :-

(1) (CH3
)
2
CH–OH (2) 

OH

O

(3) 

OH

O

(4) 
OH

O

CH3

81. :-
CH3–COOH Ph–OH

   I    II

CH3–CH2–OH H2O CHCH

  III   IV    V

(1) I > II > III > IV > V

(2) I > II > IV > III > V

(3) I > II > V > III > IV

(4) II > I > IV > III > V
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82. Which is neutral electrophile :-

(1) SO3 (2) H2O

(3) 3H O


(4) C HO


83. The stability of carbanions in the following:-

(a) R–C C (b) 
..

(c) R C=CH2 (d) R C–CH3 2

is in the order of:-

(1) (d) > (b) > (c) >(a)

(2) (a) >(c) >(b) >(d)

(3) (a) > (b) > (c) > (d)

(4) (b) > (c) > (d) >(a)

84. Which is weakest base :-

(1) O
2
N–CH

2
–NH

2

(2) CH
3
–CH

2
–NH–CH

3

(3) Ph–CH
2
–NH

2

(4) CH3–CH2–NH–CHO

85.
Cl

CH3

Cl  
aq. KOHA 2Et NH B ?

(1) 
NEt.

CH3

(2) 
NH2

CH2

(3) 
NH2

CH3

(4) 
CH CH2 3–

CH3

86. CH2=C=O 
HCl  ?

(1) CH C Cl3– –

O

(2) CH C CH3 3– –

Cl

Cl

(3) CH C OH2= –

Cl

(4) CH C OH3– –

O

82. :-
(1) SO3 (2) H2O

(3) 3H O


(4) C HO


83.  

(a) R–C C (b) 
..

(c) R C=CH2 (d) R C–CH3 2



(1) (d) > (b) > (c) >(a)

(2) (a) >(c) >(b) >(d)

(3) (a) > (b) > (c) > (d)

(4) (b) > (c) > (d) >(a)

84. :-
(1) O

2
N–CH

2
–NH

2

(2) CH3–CH2–NH–CH3

(3) Ph–CH
2
–NH

2

(4) CH3–CH2–NH–CHO

85.
Cl

CH3

Cl  
aq. KOHA 2Et NH B ?

(1) 
NEt.

CH3

(2) 
NH2

CH2

(3) 
NH2

CH3

(4) 
CH CH2 3–

CH3

86. CH2=C=O 
HCl  ?

(1) CH C Cl3– –

O

(2) CH C CH3 3– –

Cl

Cl

(3) CH C OH2= –

Cl

(4) CH C OH3– –

O

       
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87. CH C O CH CH CH3 3– – – = –

O
 

2

H

H O



  ?

(1) CH C OH  3– – + CH C CH3 3– –

O O

(2) CH C OH3– –

O

 + CH
3
–CH=CH–OH

(3) CH3–COOH + CH3–CH2–CHO

(4) CH C O CH3 3– – –

O

 + CH3–CHO

88. For the following :

(a) I– (b) Cl– (c) Br–

The increasing order of nucleophilicity would

be:

(1) Br– < Cl– < I–

(2) I– < Br–

 
< Cl–

(3) Cl– < Br– < I–

(4) I– < Cl– < Br–

89. Which is aromatic heterocyclic :-

(1) (2) 



(3) (4) 

OH

90. CH3–CH=CH2 + HCl  A Na

dry ether
  B

'B' is also obtained in :-

(1) CH –CH–Cl3

CH3

Zn + HCl

(2) CH –CH–COONa3

CH3

electrolysis

(3) (CH ) CH–COONa3 2

NaOH

+CaO

(4) All

87. CH C O CH CH CH3 3– – – = –

O
 

2

H

H O



  ?

(1) CH C OH  3– – + CH C CH3 3– –

O O

(2) CH C OH3– –

O

 + CH
3
–CH=CH–OH

(3) CH3–COOH + CH3–CH2–CHO

(4) CH C O CH3 3– – –

O

 + CH3–CHO

88. 

(a) I– (b) Cl– (c) Br–

  

(1) Br– < Cl– < I–

(2) I– < Br–

 
< Cl–

(3) Cl– < Br– < I–

(4) I– < Cl– < Br–

89. :-

(1) (2) 



(3) (4) 

OH

90. CH
3
–CH=CH

2
 + HCl  A Na

dry ether
  B

'B'   :-

(1) CH –CH–Cl3

CH3

Zn + HCl

(2) CH –CH–COONa3

CH3

electrolysis

(3) (CH ) CH–COONa3 2

NaOH

+CaO

(4) 
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91. Read the following statement :-

(A) Banana and Bamboo is a perenial plant but

flowering and fruiting take place once

(B) In biennial plant flowering and fruiting take

place once

(C) Flower is a modified stem

(D) Androecium and gynoecium is known as

essential whorl of flower

How many statements are incorrect :-

(1) 1 (2) 2 (3) 3 (4) 4

92. In which of the following both drum stick and y-

spot are present : -

(1) Turner's syndrome

(2) Klinefelter's syndrome

(3) Jacob's syndrome

(4) Super female

93. In angiosperms generally anther is :-

(A) Bilobed (B) Dithecous

(C) Tetrasporangiate (D) Monothecous

(1) A and B (2) A, B and C

(3) A, B, C, D (4) A, C, D

94. Select out the odd one : -

(1) TDF

(2) Porcupine skin

(3) Pattern baldness

(4) Hyper trichosis

95. Which one of the following is correct with respect

to pollen kitt ?

(A) It protect pollen grain from the harmful

ultraviolet rays

(B) Its sticky surface helps pollen grain to attach

with the insect

(C) Pollen kitt is present in the pollens of

entomophilous plant

(1) A, B and C (2) A and B

(3) B and C (4) A and C

96. If a cross is performed between heterozygous

yellow skin mice, what would be phenotypic ratio-

(1) 3 : 1 (2) 1 : 2

(3) 2 : 1 (4) 1 : 2 : 1

97. Select out the wrong match :-

(1) Mango - Single ovule

(2) Paddy - Single ovule

(3) Wheat - Many ovule

(4) Papaya - Many ovule

91. 
(A) 

  

(B) 



(C) 

(D)  


(1) 1 (2) 2 (3) 3 (4) 4

92. y- :-

(1)  

(2)  

(3)  

(4)  

93. 
(A)  (B) 
(C)  (D) 
(1) A  B (2) A, B  C
(3) A, B, C, D (4) A, C, D

94.  : -
(1) TDF

(2)  
(3) 
(4) 

95. 


(A) 


(B) 
  

(C) 


(1) A, B  C (2) A  B
(3) B  C (4) A  C

96. 
 : -
(1) 3 : 1 (2) 1 : 2

(3) 2 : 1 (4) 1 : 2 : 1

97. 
(1)  - 
(2)  - 
(3)  - 
(4)  - 
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98. During the DNA fingerprinting process, the step

performed after blotting is : -

(1) Autoradiography

(2) Hybridisation

(3) Denaturation

(4) Digestion

99. In flowering plant, what will be the ploidy of the

cell of the nucellus, megaspore mother cell, the

functional megaspore and female gametophyte

respectively :-

(1) 2n, 2n, n, n (2) 2n, 2n, n, 2n

(3) 2n, 2n, 2n n (4) n, n, n, n

100. Which of the following is not the use of DNA

finger printing analysis : -

(1) Application in forensic science

(2) Determination of population diversity

(3) Determination of genetic diversity

(4) Determination of various classes of satellite

DNA

101. If 2n = 40, the number of chromosome in nucellus

egg cell, integument, synergid, embryosac would

be :-

(1) 40, 20, 40, 20, 60

(2) 40, 20, 40, 20, 20

(3) 40, 20, 20, 40, 60

(4) 20, 20, 20, 40, 60

102. Any Allelic sequence variation has traditionally

been described as DNA polymorphism if more

than one allele at a locus show : -

(1) Frequency greater than 0.01

(2) Frequency less than 0.01

(3) Frequency greater than 1.0

(4) Frequency less than 0.01%

103. Read the following statement carefully :-

(A) In angiosperm both type of gametes are motile

(B) In angiosperm generally pollination of pollen

grain occurs at 2 celled stage

(C) Egg apparatus consists of two synergids and

one egg cell

(D) Group of three cell are at the micorpylar end

are called the antipodal

How many statement is correct and incorrect:-

(1) 3 correct - 1 incorrect

(2) 2 correct - 2 incorrect

(3) 4 correct - 0 incorrect

(4) 1 correct - 3 incorrect

98. DNA 
: -

(1) 
(2) 
(3) 
(4) 

99.  





(1) 2n, 2n, n, n (2) 2n, 2n, n, 2n

(3) 2n, 2n, 2n n (4) n, n, n n

100. DNA 

  : -

(1)  

(2)   

(3)   

(4) DNA    
101. 2n = 40 



(1) 40, 20, 40, 20, 60

(2) 40, 20, 40, 20, 20

(3) 40, 20, 20, 40, 60

(4) 20, 20, 20, 40, 60

102. DNA 

 : -
(1) 0.01 
(2) 0.01 
(3) 1.0 
(4) 0.01% 

103.  
(A)   
(B) 


(C) 
 

(D) 



(1) 3  - 1 
(2) 2  - 2 
(3) 4  - 0 
(4) 1 - 3 
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104. (A) DNA of same cell show high degree of

polymorphism

(B) Every tissue from an individual show same

degree of polymorphism

(C) Every offspring of same parents show same

degree of DNA polymorphism

(D) All organisms of same species show variable

degree of DNA polymorphisms

How many statements are correct

(1) Four (2) Three (3) Two (4) One

105. Cleistogamous flower are :-

(A) Do not open at all

(B) Bisexual

(C) Always Show autogamy

(D) Ecologically show cross pollination

(1) A, B and C correct

(2) A, B, C, D all correct

(3) A, B, correct

(4) A, C, D correct

106. Classification of satellite DNA into many

categories is based on : -

(1) Base composition

(2) Length of DNA Segment

(3) Number of repetitive units

(4) all the above

107. Select out correct statement with respect to

Anemophily :-

(A) Pollen grain should be small and light

(B) Anemophilous flowers are generally have

single ovule in each ovary

(C) In grasses pollination occurs through air

(1) One is correct

(2) Two is correct

(3) Two is correct and one is wrong

(4) All are correct

108. At 1.4 million locations in human genome there
is presence of variation with respect to single base,

these variations are called : -

(1) ORF (2) UTR (3) SNPs       (4) VNTR

109. In angiosperm entire part of the nucellus is utilized

by developing embryosac but in some.

angiosperm some part of nucellus remain inside

the ovule that part of nucellus present in side the

seed known as :-

(1) Aril (2) Perisperm

(3) Pseudoembryosac (4) Sarcotesta

104. (A) DNA 


(B) DNA


(C) DNA


(D)  DNA



 
(1)  (2)  (3)  (4) 

105.  
(A)  
(B) 
(C) 
(D)  
(1) A, B  C 
(2) A, B, C, D 
(3) A, B, 
(4) A, C, D 

106. DNA   
 : -

(1) 
(2) DNA 
(3)  
(4) 

107.  
(A) 

(B) 

 
(C)  
(1)  

(2) 

(3) 

(4) 
108. 1.4 

   : -

(1) ORF (2) UTR (3) SNPs       (4) VNTR

109.   
 

 
 
(1)  (2) 

(3)   (4) 
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110. Which of the following approach/aproaches used

during sequencing of human genome : -

(1) Sequence annotation

(2) Expressed sequence tags

(3) Southen blotting

(4) Both (1) & (2)

111. Match the column I with column II and select the

correct answer :

Column I  Column II

(A) Ovule (i) Fruit

(B) Ovary (ii) Seed

(C) Egg cell (iii) Embryo

(D) Inner integument (iv) Tegmen

(E) Outer integument (v) Testa

(1) A-iii, B-i, C-ii, D-iv, E-v

(2) A-iii, B-ii, C-i, D-v, E,iv

(3) A-ii, B-i, C-iii, D-iv, E-v

(4) A-i, B-iii, C-ii, D-v, E-iv

112. The accessibility of promoter regions of

prokaryotic DNA is in many cases regulated by

the inter action of proteins with : -

(1) Promoter (2) Operator

(3) Regulator (4) Structural gene

113. Castor, coconut wheat, pea, Bean, Maize

out of the given examples, how many are non

endospermic seed :-

(1) 1 (2) 2 (3) 3 (4) 4

114. Which of the following statement is incorrect with

respect to operon?

(1) Single promoter for three structural genes

(2) Polycistronic m-RNA formation

(3) Glucose results in induction of Lac operon

(4) Repressor shows negative control

115. Select out true statement :-

(A) Egg apparatus always occurs at micropylar
end

(B) Formation of functional megaspore from the
megaspore mother cell is known as
megagametogenesis

(C) Formation of embryosac take place by
megaspore

(1) Only A and B (2) Only B and C

(3) Ony A and C (4) All A, B, and C

110. 
 : -
(1) 
(2) 
(3) 

(4) (1)  (2) 
111.  I   II      


 I  II

(A)  (i) 

(B)  (ii) 

(C)  (iii) 

(D)  (iv) 

(E)  (v) 
(1) A-iii, B-i, C-ii, D-iv, E-v

(2) A-iii, B-ii, C-i, D-v, E,iv

(3) A-ii, B-i, C-iii, D-iv, E-v

(4) A-i, B-iii, C-ii, D-v, E-iv

112. DNA   

   : -
(1)  (2) 
(3)  (4) 

113. 


(1) 1 (2) 2 (3) 3 (4) 4

114. : -

(1)  

(2) m-RNA 

(3) Lac 

(4)  

115. 
(A) 



(B) 



(C)  

(1)  A  B (2) B C

(3) A  C (4) A, B  C 
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116. Main level of regulation of gene expression in

prokaryotes is : -

(1) Translational

(2) Transcriptional

(3) Processing RNA

(4) Post transcriptional

117.

Which condition is shown in above diagram ?

(1) Multicarpellary, syncarpous pistil of papaver

(2) Multicarpellary, apocarpous pistil of papaver

(3) Multicarpellary, syncarpous pistil of michelia

(4) Multicarpellary, apocarpous pistil of michelia

118.

For given pedigee the gene responsible for the

disease can be : -

(1) Autosomal recessive

(2) Auto somal dominant

(3) Sex linked recessive

(4) Both (1) & (3)

119. Chronic myloid leukemia [CML] disease is an

example of :-

(1) Simple translocation

(2) Shift translocation

(3) Reciprocal translocation

(4) Monosomy

116. 
 : -

(1) 

(2) 

(3) RNA 

(4) 

117.


(1)  
(2)   
(3)  
(4)  

118.


 : -
(1) 
(2) 
(3) 
(4) (1)  (3) 

119.   [CML]  
 :-

(1)  

(2) 

(3) 

(4) 

   
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120. Which of the following is correct with respect to

sex linked inheritance : -

(1) Mother passes the sex linked trait to sons only

(2) Dominant sex linked alleles express more in

males

(3) Sex linked allele can transmitted from father

to son

(4) Shows similar results for reciprocal crosses

121. In human-evolution the first man who started

agriculture :-

(1) Cromagnon man

(2) Neanderthal man

(3) Homo sapiens sapiens

(4) Peking man

122. The wheat grain colour is controlled by two pairs

of polygenes. What proportion of progeny in F
2

generation show parental phenotype : -

(1) 2/16 (2) 9/16

(3) 4/16 (4) 10/16

123. Find out unmatched :-

(1) Chemical mutagen  Mustard gas & HNO
2

(2) Antibiotics  Neomycin and streptomycin

(3) Aneuploidy  Change in structure of

   chromosomes

(4) Autotriploid plants  Cyanodon and rose

124. Linkage is unexceptionally absent between : -

(1) Two gene present on same arms of

homologous pair of chromosomes

(2) Two gene present on different arms of

homologous pair of chromosomes

(3) Two genes present in long arms of two pairs

of non homologous chromosomes

(4) All the above

125. Male moths recognize females of their species by

sensing chemical signals called pheromones. This

is an example of –

(1) Gametic isolation

(2) Habitat isolation

(3) Behavioural isolation

(4) Mechanical isolation

120. 
: -

(1) 

(2) 

(3)   



(4) 
121. 

 :-

(1) 

(2) 

(3) 

(4) 
122.                        

  F
2
      

    : -

(1) 2/16 (2) 9/16

(3) 4/16 (4) 10/16

123. :-

(1)   HNO
2

(2)   

(3)   
(4)   

124.                  
    : -
(1) 


(2) 


(3) 


(4) 

125. 

 –

(1) 

(2)  

(3) 

(4) 
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126. Possibility I

Anaphase I
(Meiosis I)

Spindle
fibres

Pole

Anaphase II
(Meiosis II)

Germ cells

Possibility II

Two pair of
homologous
chromosomes

Anaphase I
(Meiosis I)

Anaphase II
(Meiosis II)

Germ cells

The given diagram exhibits : -

(1) Independent assortment of chromosomes

(2) Segregation of Mendelian factors

(3) Dominance

(4) Both (1) & (2)

126. Possibility I

Anaphase I
(Meiosis I)

Spindle
fibres

Pole

Anaphase II
(Meiosis II)

Germ cells

Possibility II

Two pair of
homologous
chromosomes

Anaphase I
(Meiosis I)

Anaphase II
(Meiosis II)

Germ cells

  : -
(1)  
(2) 
(3) 
(4) (1)  (2) 

        
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127. Find out unmatched –

(A) Australopithecus Bipadal locomotion

(B) Pithecanthropus eractus Erect Ape man

(C) Proconsul Orthognathus Jaw

(D) Homo erectus Pekinensis  Less develop

        chin present

(E) Chromagnon man Started domestication

of animals

(1) A and C (2) B and C

(3) B and E (4) C and D

128. The factors influencing crossing over include all

except : -

(1) The physical distance between two genes

(2) Age 
1

deg ree of crossin g over

(3) Amount of heterochromatin

(4) Size of non homologous chromosomes

129. In prokaryotes frequency of mutation is high as

compared to eukaryotes, why :-

(1) Due to the presence of 70 ribosomes

(2) Due to the absence of chloroplast

(3) Due to the presence of naked DNA

(4) Due to the absence of naked DNA

130. Calvin Bridges stated that instead of XY

chromosomes, sex is determined by the genic

balance. What would be the sex of drosophila

having XX + 3A & XY + 3A karyotype

respectively : -

(1) Inter sex & Metafemale

(2) Metafemale & Intersex

(3) Intersex & Normal male

(4) Intersex & Meta male
131. In structure of normal DNA replacement of one

nitrogenous base by another nitrogenous base is
called as 'A' and replacement of adenine by
guanine is called as 'B'. In the above statement A
& B here refers to :-

(1) A  Substitution B  Transition

(2) A  Point mutation B  Transversion

(3) A  Frame shift mutation B  Transversion

(4) Both (2) and (3)

132. A women carrier for albinism as well as

colourblindness will produce how many types of

gametes : -

(1) Two (2) Three (3) Four (4) One

127.   –

(A)   

(B)    

(C)  

(D)  

(E)   

(1) A  C (2) B  C

(3) B  E (4) C  D

128. 
 : -
(1) 

(2)   1



(3) 
(4) 

129. 
  :-
(1) 70 
(2) 
(3) DNA 
(4) DNA 

130. XY 

   XX + 3A 

XY + 3A 

 : -
(1) 
(2) 
(3) 
(4) 

131. DNA 
'A' 
  'B' 
A  B :-
(1) A   B  
(2) A   B  
(3) A   B  
(4) (2)  (3) 

132. 

  : -

(1)  (2)  (3)  (4) 
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133. Which one provide direct and solid evidence in

favour of organic evolution through ages

(1) Atavism           (2) Palaeontology

(3) Vestigial organs   (4) Galapagos island fauna

134. In human beings each person possesses : -

(1) Any one of three I gene alleles

(2) Any two of three I gene alleles

(3) Any two of four I gene alleles

(4) All the three I gene alleles

135. ' 'A 

      

'A' respresents :-
(1) Simple translocation
(2) Shift translocation
(3) Reciprocal translocation

(4) Inversion

136. In the cross Aa Bb × Aa Bb.

What propotion of progeny is homozygous for

both traits : -

(1) 2/16 (2) 1/4 (3) 8/16 (4) 6/16

137. Sequence of which of the following Nucleic acid

is used to know the phylogeny :–

(1) m–RNA (2) r–RNA

(3) t–RNA (4) DNA

138. If modified allele produce after miss sense

mutation of wild then what will happen : -

(1) Normal enzyme will be form

(2) Less efficient enzyme will be form

(3) Non functional enzyme form

(4) Either (2) or (3)

139. During evolution the first living being were

prokaryotic cell, like :–

(1) Bacteria (2) Virus

(3)Blue green algae (4) Actinomycetes

140. Which of the following proved that Mendel's

results pointed to general rules of inheritance

rather than being unsubstantiated ideas : -

(1) His experiments had a large sampling size for
greater credibility to data that the collected

(2) Confirmation of his inferences from
experiments on successive generations

(3) Use of statistical analysis and mathematical

logic

(4) All the above

133.     
    
(1)            (2)  
(3)         (4)  

134.   : -
(1)  I gene 
(2) I 
(3) I 
(4)  I gene 

135. ' 'A 

      

   'A'    :-
(1)  
(2)  
(3)  
(4) 

136. Aa Bb × Aa Bb 
: -

(1) 2/16 (2) 1/4 (3) 8/16 (4) 6/16

137. 
     :–

(1) m–RNA (2) r–RNA

(3) t–RNA (4) DNA

138. wild gene 

  : -
(1)  
(2)  
(3)  
(4)  (2)  (3)

139. 
    :–

(1)  (2) 
(3)  (4) 

140. 

: -

(1) 

 

(2) 



(3) 

(4) 
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141. Near about the carboniferous period all the present

day continents formed a single large land mass

called:-

(1) Alligators (2) Realms

(3) Pangaea (4) Country

142. Two non allelic genes located on single

chromosome can show : -

(1) Dominant-recessive relation

(2) Segregation

(3) Independent assortment

(4) Linkage

143. Which statement is correct regarding human

fosslis :-

(1) Fossils of homo neanderthalensis is obtain

recently from South Africa

(2) Neanderthal & cro–magnon man lived

together for sometime on the earth

(3) Fossils of Austrapithecus are obtain from

Australia

(4) Homo erectus erectus evolved before

homohabilis

144. Choose the incorrect statement with respect to

chromosomal sex determination : -

(1) In insects androsperm is devoid of idiosome

(2) In some insects male & female have different

number of chromosome

(3) All insects show sex determination similar to

human beings

(4) In birds both male and female have the same

number of chromosomes

145. A = Natural selection

B = Variations & their inheritance

C = Survival of fittest

D = Struggle for existence

correct sequence, according to darwinism, are :-

(1) B, C, A, D (2) D, B, C, A

(3) C, D, A, B (4) D, A, C, B

146. For the monohybrid Mendelian cross select out

the incorrect statement : -

(1) There is reappearance of that trait which was

not expressed in F
1

(2) F
2
 traits were identical to their parental type

(3) F
2
 traits did not show any blending

(4) offsprings show inheritance of two genes

141. 

    :-
(1)  (2) 
(3)  (4) 

142. 
 : -
(1) 
(2) 
(3) 
(4) 

143.       :-

(1)      
    

(2) 
 

(3) 


(4)     


144.        
 : -

(1) 
(2) 
 

(3) 
(4) 
 

145. A = 

B = 
C = 

D =  
 :-
(1) B, C, A, D (2) D, B, C, A

(3) C, D, A, B (4) D, A , C, B

146. 

 : -

(1) F
1 




(2) F
2
 

(3) F
2
 

(4) 
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147. Which statement is not a false statement:-

(1) Earth was formed about 4.6 million years  ago

(2) Life was originated in mesozoic era

(3) Homologous organs show divergent

evolution

(4) First living form in primitive oceans was

coacervates

148.
Character Dominant 

trait
Recessive 
trait

Seed shape

Pod shape

A

B C

Pod colour

D EFlower
 position

Stem height

Round Wrinkled

Yellow Green

Violet White

Green Yellow

Tall Dwarf

Flower 
colour

In given table of seven pairs of contrasting trait,

match the column : -

(A) (B) (C) (D) (E)

(1) Seedcoat 

colour

Full Constricted Axial Terminal

(2) Cotyledon

colour

Full Constricted Terminal Axial

(3) Seed 

colour

Full Constricted Axial Terminal

(4) Seedcoat 

colour

Constricted Full Axial Terminal

147.  :-

(1) 4.6 million 

(2)  

(3) 

(4) 

148.
Character Dominant 

trait
Recessive 
trait

Seed shape

Pod shape

A

B C

Pod colour

D EFlower
 position

Stem height

Round Wrinkled

Yellow Green

Violet White

Green Yellow

Tall Dwarf

Flower 
colour



 : -

     

(A) (B) (C) (D) (E)

(1) cht pksy jax iw.kZ fipdh d{kLFk 'kh"kZ LFk

(2) cht i=k dk j ax iw.kZ fipdh  'kh"kZLFk d{kLFk

(3) cht dk jax iw.kZ fipdh d{kLFk 'kh"kZ LFk

(4) cht pksy dk j ax fipdh iw.kZ d{kLFk 'kh"kZ LFk
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149. Phylogeny term represent :–

(1) Life history (2) Group of phyla

(3) Evolutionary history (4) Group of species

150. For the cross AaBbCc × aabbcc

Which of the following statements is/are incorrect:

(1) Phenotypic & genotypic ratio is same

(2) Type of gametes and genotype are produced

in same number

(3) Proportion of each gamete formed is 12.5%

(4) Such type of cross is generally carried out to

know about genotype of only F
1
 generation

151. Which statement is true –

(1) Coacervates has lipid membrane arround it

(2) During evolution protein form before glucose

(3) Coacervates term given by oparin

(4) First autotrophs are photoautotrophs

152. A cross is performed between heterozygous pea

plant for starch grain size with homozygous

dominant pea plant. How many types of

phenotypes are produced in progeny : -

(1) One (2) Two

(3) Three (4) Four

153. The most wrong concept of Lamarckism was–

(1) Internal vital force

(2) Effect of environment

(3) Use and disuse of organs

(4) Inheritance of acquired character

154. Which of the following is the basis of heredity : -

(1) Inheritance (2) Variations

(3) Genetics (4) Both (1) & (2)

155. Statement 1 Coacervates was surrounded by

a lipid membrane

Statement 2   Evolution is a slow and

continuous process

(1) Statement 1 is true but statement 2 is false

(2) Statement 1 and 2 both are true

(3) Statement 1 is false but statement 2 is true

(4) Statement 1 and 2 both are false

156. In a female undergoing hysterectomy, which one

of the following event will not occur?

(1) Formation of Graafian follicle

(2) Ovulation

(3) Menstruation

(4) Completion of meiosis-I and formation of

secondary oocyte.

149.     :–

(1)   (2)  
(3)   (4)  

150. AaBbCc × aabbcc  
  : -

(1) 
(2) 
 

(3)  12.5% 
(4) F

1


 
151.   –

(1) 
(2) 
(3)     
(4)     

152. 

  : -

(1)  (2) 

(3)  (4) 
153.     –

(1)  
(2)  
(3)    
(4)  

154.  : -
(1)  (2) 
(3)  (4) (1)  (2) 

155.  1  

 2  

(1) 1 2 

(2) 1 2 
(3) 1 2 

(4) 1  2 
156. 

 

(1)  
(2) 
(3) 

(4) -I 

Time Management is Life Management
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157. Resistance of insects to DDT represents which

type of natural selection :-

(1) Stabilising selection     (2) Directional selection

(3) Disruptive selection (4) None

158. Fill in the blanks and find out the correct answer-

"A yellowish structure called the ____A____

secretes ____B____ during the ____C____ phase

of the menstrual cycle".

A B C

(1) Corpus Estrogen Secretory

albicans

(2) Corpus Progesterone Follicular

luteum

(3) Corpus Progesterone Secretory

luteum

(4) Graafian Estrogen Luteal

follicle

159. Stanley Miller took which compounds in his

experiment :-

(1) NH
3
, H

2
, CH

4
, O

2
(2) H

2
S, NH

3
, CH

4
, H

2

(3) CH
4
, O

2
, H

2
O, NH

3
(4) CH

4
, NH

3
, H

2
, H

2
O

160. Match the following and choose the correct answer:-

(A) Spermatogenesis (i) Ovary

(B) Folliculogenesis (ii) Vagina

(C) Capacitation (iii) Epididymis

(D) Maturation of (iv) Seminiferous

sperms tubules

(1) A - (iv), B - (i), C - (iii), D - (ii)

(2) A - (iii), B - (ii), C - (iv), D - (i)

(3) A - (iv), B - (i), C - (ii), D - (iii)

(4) A - (iii), B - (iv), C - (i), D - (ii)
161. The first cellular form of life originated before

how many years :-
(1) 3 billion year before
(2) 4 billion year before
(3) 2000 million year before
(4) 5 million year before

162. Which of the following is incorrectly paired with

its function.

(1) Ovary  Synthesis and secrete
steroid hormones.

(2) Fallopian tube  Collection of the ovum
after ovulation.

(3) Seminal vesicle  Produces a sugar
containing fluid to
nourish sperm.

(4) Bartholin glands Secrete alkaline fluid
to destroys the acidity

of the urethra.

157.  DDT 
:-
(1)  (2) 
(3)  (4) 

158. 

 ____A____ ____B____ 
 ____C____ 


A B C

(1)   


(2)   


(3)   


(4)   
159. 

 :-
(1) NH

3
, H

2
, CH

4
, O

2
(2) H

2
S, NH

3
, CH

4
, H

2

(3) CH
4
, O

2
, H

2
O, NH

3
(4) CH

4
, NH

3
, H

2
, H

2
O

160.   :-
(A)  (i) 
(B)  (ii) 
(C)  (iii) 
(D)  (iv) 


(1) A - (iv), B - (i), C - (iii), D - (ii)

(2) A - (iii), B - (ii), C - (iv), D - (i)

(3) A - (iv), B - (i), C - (ii), D - (iii)

(4) A - (iii), B - (iv), C - (i), D - (ii)

161. 
 :-
(1) 3  
(2) 4  
(3) 2000  
(4) 5  

162. 

(1)    


(2)    


(3)   




(4)   


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163. According to darwin, the founder of theory of

natural selection, fitness refers to :-

(1) Built in variation

(2) Reproductive fitness

(3) Struggle

(4) Physical fitness

164. Match the column-A with column-B :-

Column-A Column-B

(i) Lippes loop (a) Copper releasing IUDs

(ii) LNG-20 (b) Hormone releasing IUDs

(iii) Multiload 375 (c) Non-medicated IUDs

(1) (i)-b, (ii)-c, (iii)-a

(2) (i)-a, (ii)-c, (iii)-b

(3) (i)-c, (ii)-b, (iii)-a

(4) (i)-c, (ii)-a, (iii)-b

165. Which of the following statement is incorrect:-

(1) Any population has built in variation in

characteristics

(2) Natural selection is a mechanism of evolution

(3) The geological history of earth never correlates

with the biological history of earth

(4) According to Darwin, the fitness refers

ultimately and only to reproductive fitness

166. Fill in the blanks in following :-

The .............. undergoes cyclical changes during

menstrual cycle while the .............. exhibits strong

contraction during delivery of the baby.

(1) Perimetrium, Myometrium

(2) Myometrium, Endometrium

(3) Perimetrium, Endometrium

(4) Endometrium, Myometrium

167. Before the industrial revolution in England in

1850, which type of Biston betularia present in

more amount :-

(1) White winged (2) Dark winged

(3) Red winged (4) All of the above

168. Which of the following embryonic structures give

rise to the female accesory ducts (fallopian tube,

uterus, vagina) ?

(1) Wolffian duct (2) Mullerian duct

(3) Primordian duct (4) None of these

163. 
 :-
(1)  
(2) 

(3) 

(4) 
164. -A -B   :-

-A -B

(i) Lippes loop (a)  IUDs

(ii) LNG-20 (b)  IUDs

(iii) Multiload 375 (c)  IUDs

(1) (i)-b, (ii)-c, (iii)-a

(2) (i)-a, (ii)-c, (iii)-b

(3) (i)-c, (ii)-b, (iii)-a

(4) (i)-c, (ii)-a, (iii)-b

165.  :-
(1)  


(2) 
(3)  


(4) 


166.   :-
.............. 
.............. 
 
(1) 

(2) 

(3) 
(4) 

167. 1850        
  

 :-

(1)  (2) 
(3)  (4) 

168.    
 ()  

(1)  (2) 
(3)  (4) 
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169. Select the incorrect statement :-

(1) Lichens can be used as industrial pollution

indicators

(2) Evolution is a directed process in the sense of

determinism

(3) Evolution is a stochastic process based on

chance event in nature and chance mutation

in the organisms

(4) Similarities in proteins and genes performing

a given function among diverse organisms

give clues to common ancestory

170. Cells of corona radiata disperse just :-

(1) After fertilization

(2) Before implantation

(3) At the time of coming in contact with sperm

(4) After cleavage

171. Which of the following is good example of

adaptive radiation :-

(1) Darwin's finches  (2) Australian marsupial

(3) Both of them       (4) None of the above

172. The villi of human placenta arise from :-

(1) Yolksac           (2) Chorion

(3) Both chorion and allantois   (4) Allantois

173. Select the incorrect statements :-

(A) The essence of Darwinian theory of evolution

is natural selection

(B) Evolution is a directed process in the sense

of determinism

(C) The geological history of earth is not related

with the biological history of earth

(D) During evolution the rate of appearance of

new forms is linked to the life cycle

(1) A and B (2) B and C

(3) A and D (4) B and D

174. A late gastrula stage show these primary germ

layer :-

(1) Ectoderm and mesoderm

(2) Ectoderm, mesoderm and endoderm

(3) Ectoderm only

(4) Endoderm only

175. What is the main key concept of Darwinian theory

of evolution :-

(A) Natural selection (B) Branching descent

(C) Mutation (D) Genetic variation

(1) A, C, D (2) A, B

(3) A, B, C, D (4) A, D

169.  :-
(1) 


(2) 


(3) 

 

(4)  
   


170.    :-
(1) 
(2)  
(3) 
(4) 

171.         
 :-
(1)   (2) 
(3)  (4) 

172.   :-
(1)           (2) 
(3)    (4) 

173.  :-
(A) 


(B)   
 

(C) 


(D) 
 

(1) A  B (2) B  C
(3) A  D (4) B  D

174.  
 :-
(1) 
(2) 
(3) 
(4) 

175.         
 :-

(A)  (B) 
(C)  (D) 
(1) A, C, D (2) A, B

(3) A, B, C, D (4) A, D
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176. The density of a population in a given habitat during

a given period, fluctuates due to changes in?

(1) Immgration, Natility  (2) Mortality

(3) Emigration    (4) All the above

177. We are still not very clear that evolution is a

process or the result of a process. But when we

describe the story of this world we describe that

evolution is a :-

(1) Process

(2) Consequence of natural selection

(3) Non known

(4) Both (1) and (2)

178. When the resources are limited, which are the

phases exhibited by an organism during growth?

(1) Lag, exponential, deacceleration,

asymptomatic

(2) Lag, log, asymptomatic, deacceleration,

exponential

(3) Lag, log, deacceleration, exponential,

asymptomatic

(4) None of these

179.

a

b

P
op

ul
at

io
n 

de
ns

it
y 

(N
) dN

dt
= rN

dN
dt

= rN K.N.
K

Time (t)

(1) a = logistic plot b = exponential plot

k = carrying capacity

(2) a = exponential plot b = logistic plot

N = carrying capacity

(3) a = carrying capacity b = exponential plot

k = logistic plot

(4) k = carrying capacity b = logistic plot

a = exponential plot

180. Which of the following is correct about human
Reproduction ?
(1) ‘Saheli’ is a new contraceptive for female
(2) Amniocentosis is carried out to know the

chromosomal pattern from the sample taken
from the cells of umbilical cord.

(3) Ovulation is facilitated by breast-feeding
(4) A combination of progesterone and oestrogen

is injected or implanted under the skin as an
emergency contraceptive

176. 
 ?
(1)  (2) 
(3)  (4) 

177. 

  
 :-
(1) 
(2) 
(3) 
(4) (1)  (2)

178. 

(1) 

(2)  



(3) 



(4) 

179.

a

b








 (
N

)

dN
dt

= rN

dN
dt

= rN K.N.
K

 (t)

(1) a =  b = 
k =  

(2) a =  b = 
N =  

(3) a =    b = 
k = 

(4) k =  b = 
a = 

180. ?
(1) ‘’ 

(2) 

   

(3) 
(4) 

 
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SPACE FOR ROUGH WORK /     

Your moral duty

is to prove that  is 


